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p1V1 = nRTa , p2V1 = nRTc , p1V2 = nRTd , p2V2 = nRTb
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✹✳ ❬✶✾✳✺✶❪ ❙t❛rt✐♥❣ ✇✐t❤ ✷✳✺✵ ♠♦❧ ♦❢ ◆2 ❣❛s ✭❛ss✉♠❡❞ t♦ ❜❡ ✐❞❡❛❧✮ ✐♥ ❛ ❝②❧✐♥❞❡r ❛t ✶✳✵✵ ❛t♠ ❛♥❞ ✷✵✳✵o❈✱
❛ ❝❤❡♠✐st ✜rst ❤❡❛ts t❤❡ ❣❛s ❛t ❝♦♥st❛♥t ✈♦❧✉♠❡✱ ❛❞❞✐♥❣ 1.52 × 104 ❏ ♦❢ ❤❡❛t✱ t❤❡♥ ❝♦♥t✐♥✉❡s ❤❡❛t✐♥❣
❛♥❞ ❛❧❧♦✇s t❤❡ ❣❛s t♦ ❡①♣❛♥❞ ❛t ❝♦♥st❛♥t ♣r❡ss✉r❡ t♦ t✇✐❝❡ ✐ts ♦r✐❣✐♥❛❧ ✈♦❧✉♠❡✳ ✭❛✮ ❈❛❧❝✉❧❛t❡ t❤❡ ✜♥❛❧
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♦❢ ❤❡❛t ❛❞❞❡❞ t♦ t❤❡ ❣❛s ✇❤✐❧❡ ✐t ✇❛s ❡①♣❛♥❞✐♥❣✳ ✭❞✮ ❈❛❧❝✉❧❛t❡ t❤❡ ❝❤❛♥❣❡ ✐♥ ✐♥t❡r♥❛❧ ❡♥❡r❣② ♦❢ t❤❡
❣❛s ❢♦r t❤❡ ✇❤♦❧❡ ♣r♦❝❡ss✳

• n = 2.50 ♠♦❧✱ p1 = 1 ❛t♠ = 1.01325 × 105 P❛✱ T1 = 20.0o❈ = 293.16 ❑✱ V1 = V2 ≡ V12✱
Q12 = 1.52× 104 ❏✱ p2 = p3 ≡ p23✱ V3 = 2V2
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